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Question 43/2025/0L
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Questionl:-Whose autobiography is "Stumped, Life behind and beyond Twenty Two

yards"?
"R0a¢, S5° 00w° ©ozE® DoII0TR® &3083 b 030" 0390 3ZeRI?
< ~N &

A~
ed

A:-Mahendra Singh Dhoni
S0BeOT, H0NF e

B:-Syed Kirmani
R,0300° F300€ ©°

C:-Nayan Mongia
B0do° Se0N03e

D:-Kiran More
3O SHCT°

Correct Answer:- Option-B

Question2:-"l too had a dream" is the autobiography of :
"0 £30 THYBE® D FERI D0wVEd 03T e5ZeIRY?

A:-Dr. S. Somanath
39, DF°. ARCIOVIR®

B:-Dr. A.PJ. Abdul Kalam
Bo. .D.23. O ANy 530

C:-Dr. Varghese Kurian
9. INeezt O

D:-Dr. K.M. Cherian
@o. 3.00. D™

Correct Answer:- Option-C

Question3:-Who among the following was incharge of a referundum conducted in

Ponnani Taluk as part of Guruvayoor Sathyagraha?

rIBOR90300) BYRHR ormeN BRI FoQUedBY FEILN HPYPFY0I FORBE0Y) B

BYNVITY Q35900 VRO BOODZTO?



A:-K. Kelappan
3. v’

B:-C. Rajagopalachari
2. D%IACTIOLZ0

C:-T. Prakasham
&3. g’ojﬁ)éo

D:-T.K. Madhavan
83.3. F00PI™°
Correct Answer:-Question Cancelled

Question4:-Kathakali is said to have originated from which of the folowing dance
forms?
FYNST 03093 ag)g S elalen) ﬁqﬁg*e?odn BOLIBP0BTS OB BeFNTS?

A:-Mohiniyattam
S3ReA0350840

B:-Koodiyattom
ﬁfaéaba%ddo

C:-Ramanattam
Oaai)m%ddo

D:-Krishnanattam
TEmYe
Correct Answer:- Option-C

Question5:-Which among the following women leaders was a member of
Constituent assembly which framed the constitution of India?
8% FFNIJ)NPY 035053 R0&o¥o ©2030T3Y JT3H 30&)@3&555*53 CPRDAE FODPID L3030

ABR0CINGZTO?
?5 Q
A:-Arya Pallom
3030 BYO

B:-Accamma Cherian
esfd@o 230030n¢

C:-A.V. Kuttimalu Amma
R.D. &é%dmaoo ead@o

D:-Dakshayani Velayudhan
©eg20308d sSeerp0dngie®

Correct Answer:- Option-D

Question6:-Freedom Fighter of India, who is known as the "Prince of Patriots"?
" T8I0 Ta%BLRINT" D0BY IA0IE 0309 FIS0F, BACTIMOTHO FB0DLNIZS?

A:-Bhagat Singh
P Joné



B:-Chandrasekhar Azad
z&ogéea)os e3230°

C:-Subhash Chandra Bose
BVARERALe Al A Yol vy

D:-Sukhdev
DT

Correct Answer:- Option-C

Question7:-Considering the given list, which one falls in the category of Jovian
planet?
QeBOOR m%dcxbgo 20nedd, 03O BeeNodon® @m 5#@ AECOZTS?

A:-Mercury
(ANIn

B:-Mars
Soone

C:-Jupiter
nYCO

D:-Earth
(AVATAN)

Correct Answer:- Option-C

Question8:-Which planetary wind blows from the sub-tropical high-pressure belt to
the sub-polar low-pressure belt?
M-m@doo&d 9QT-Ww3EBE 309008 YUB- PR BTRR-WIBE 5&3@‘ 0303 Rl Ne¥

DeRILS?

A:-NE Trade winds
NE mpd noY

B:-SE Trade winds
SE mzsmd moY

C:-The Westerlies
a"geﬂcau—s

D:-Polar Easterlies
RCLITE éege‘)ems

Correct Answer:- Option-C

Question9:-Arrange the following mountain passes in their descending order of
altitude from the mean sea level.

(i) BurjiLa

(if) Fotu La

(iii) Bara Lacha La

(iv) Zoji La

88 FINT I3€3 manrri%fgb 20230 FRB, Bo&R0T HICH 938,008 IR 2cR2.



i) 2002F &
i) 2CED &9
i) 2909 @30 &9
iv) 230023 &

A:-(i)-(iii)-(iv)-(ii)
(i)-(iii)-(iv)-(ii)

B:-(iii)-(i)-(ii)-(iv)
(iii)-(i)-(ii)-(iv)

C:-(ii)-(i)-(iii)-(iv)
(ii)-(i)-(iii)-(iv)

D:-(ii)-(i)-(iv)-(iii)
(i1)-(i)-(iv)-(iii)

Correct Answer:- Option-B

Questionl0:-Neeleswaram of Kasaragod district in Kerala is known for the presence
of which one of the following mineral deposits?
BCOYE TR0 B Beadd &)ce?egdo 8% BYNT 0doox3 DA% AFEBNY SUBAST BACITOA03IONTS?

A:-Bauxite
m@)&s‘

B:-China clay
23emo B¢

C:-Silica Sand
200 0T

D:-Lime stone
B T
€ &
Correct Answer:- Option-A
Questionl1:-The famous Chilika Lake is located in which of the following state?
S B¥IT 3BRCS0F) B FYNE 03503 oazgcﬁQd?

A:-Odisha
2039

~N

B:-Karnataka
TOOE 3T

C:-West Bengal
5%33 Wono¥

D:-Tamin Nadu
3AOYOWBEY

Correct Answer:- Option-A

Question12:-On a map, the scale is given as a statement '1 cm represents 2 km on



the ground'. Which of the following fractional scales correctly represents this
statement?
20830 B3P '1 Fo.oe. Fom Hoedk 2 3.a0¢. F3VROIE'. How He?F0303 [HTITO

QBN B8 FPNT 03003 LNB8 DI0DToy) B9 ée@%oi)go 2003590 g@&)@b’xjd’?
A:-1:2,000
1:2,000

B:-1:20,000
1:20,000

C:-1:2,00,000
1:2,00,000

D:-1:2,000,000
1:2,000,000

Correct Answer:- Option-C

Questionl13:-The development strategy of India since 1990's focused greater
reliance on
1990 T B3300R0 LT3 eaz;’)dg)&?pa)obrsog@ oees aé‘zsé-d esde)ozoa?odog)

FeoR 50T,

A:-Market Mechanism and Private Sector
a’mdoﬁé%d OO DPI® B0ZD J9aN IO

B:-Planning and Social Sector Spending
et B3 eRIT FO0E DWOE

C:-Investment in Public Sector Units
AR WRT SO0 e3BNYY BRRS

D:-Market intervention by the government
RBEOROB BI00TES BIFED
Correct Answer:- Option-A

Questionl4:-The impact and the incidence of a tax are borne by different entities; is
true in the case of which among the following tax?
301303 F0FHIRL FO m?ggodsgo c‘,’)zipg) P3N0 PJOROZS; B FYNT 0doos3 30riad FOBLIFTY

29530 00300NTI?

A:-Direct Tax
8ec 301

B:-Indirect Tax
36@633%

C:-Personal Income Tax
=3,0303% es53003> 3018

D:-Corporate Taxes
Boayaes Bees® 30rned

Correct Answer:- Option-B



Questionl15:-Dr. M.S. Swaminathan was an advocate of "Evergreen Revolution",

which stood for

B9, 0.7, FIVIFY® " AZH0F £9F F908" 030 B ITIWTTNGTY, [BO €90
o 3 & o [ Y

RRBRIIT.

A:-IAAP-IADP-HYVP
IAAP-IADP-HYVP

B:-Seed-Water-Fertilizer Strategy
Dezs-eoL- ri/azz,ood 308

C:-Environmentally Sustainable Agriculture, Sustainable Food Security and
Preservation of Biodiversity
=0x0e0ddN 332{@(5 BA, AT ©8%0 B3 =0 ﬁeﬁa‘;}&%ﬁd XOCTES

D:-Contract farming as the key modus operandi
FF0D FIOE APV LT T
A O]
Correct Answer:- Option-C

Questionl16:-Which tax in India is commonly referred to as the Google Tax?
03E Y 03003 :é’bﬁod)go mmgmﬁ nenet 301 ©0@0 FB03IeRHZTS?

A:-Securities Transaction Tax
33&6&36&‘3 St 301

B:-Anti-dumping Duty
BOONE DBRCH BO0T

C:-Equalisation Levy
B350 301

D:-Import Duty
e33O 0T

Correct Answer:- Option-C
Questionl7:-Which are the current GST rate structure in India?
zpadsdg? @?3 GST B0 0wx 0300x3)@0?

A:-0%, 10%, 12%, 20% and 28%
0%, 10%, 12%, 20% =03 28%

B:-0%, 5%, 15%, 18% and 25%
0%, 5%, 15%, 18% 203> 25%

C:-0%, 5%, 10%, 15% and 25%
0%, 5%, 10%, 15% =03> 25%

D:-0%, 5%, 12%, 18% and 28%
0%, 5%, 12%, 18% =03 28%

Correct Answer:- Option-D

Question18:-Which among the following is a trading platform created by the
Government of India, with an objective of "One Nation One Market" for agriculture
crops in India?



03B A WSNRINR " 2,080 oa@’ 20530 :mdoﬁé:'g;' DOW emgeéaod 2903 FToFVey) TUAIW
a‘azfmd 3eRF 0300 0?

A:-E-NAM
‘a-ngbe

B:-Mandis
SooRnD

C:-Agricultural Co-operative Societies
ZA ABTIT ROFPTIYO

D:-Farmer Producer Organizations
33 eusars KoL

Correct Answer:- Option-A

Question19:-Which fundamental right guaranteed by the Indian Constitution is
associated with the principles of double jeopardy, ex post facto, and protection
against self-incrimination?

90303 ROPINR) ISVDRBAIB 03003 SOOI 3? B B03RCTIRE, DT a-"yaes; @fﬁw

3030 F0300-9BTIHA COF 0ZFE03 Sgﬁ@iﬁ)oaﬁ R0 0RAT?

A:-Article 19
eaab?ég‘s’cd 19

B:-Article 20
esabged 20

C:-Article 21
eangcd 21

D:-Article 22
eaabged 22

Correct Answer:- Option-B

Question20:-The Constitution (92nd Amendment) Act, 2003 amends to Eighth
Schedule to the Constitution to include which of the following languages?

(i) Bodo

(ii) Maithili

(iii) Santhali

(iv) Nepali

Select the correct answer using the code given below :

2007 (92 e 3ZoBR) 5203, 2003 F0DPITE Hoe3e 56%5%%030@ o8 FYNS 03003

PORNYY ZeORV PoDR SIeEOZI?

(i) Wncdne

(i) 309

(iii) =omped

(iv) Sexe?

TR QB OIE FRCTE® WP D030 emgdﬁgb €303), 3003

A:-(i), (i) and (iii)



(i), (i) S0 (iii)
B:-(i), (ii) and (iv)
)

(i), (ii) &3> (iv)

Correct Answer:- Option-A

Question21:-Consider the following Fundamental Duties of Indian citizens as per the
Constitution of India.

(i) Respect the National Flag and National Anthem.

(ii) To cast a vote in elections.

(iii) To develop scientific temper.

(iv) To safeguard public property and to abjure violence.

Which of the statements given above is/are correct?

PITIB F0IFIVH FTC 0303 DNOCTO B FYNT S e3 63??{1%”?3 20red.
(i) OD@%SZS R030 m@ﬁcé’ai)go 90 QROZYBO.

(i) 20PRF030Y [0 WLDORIFKS.

(iii) 25T z:ba&/aezpwdﬁb WSROIHR0.

(iv) ROREBWIT esj’,god)go TFRIJTO S0 &:omuadwﬁb gzﬁz’o@do.

R0ee QBT BEFINFY 03003)E0 KO03ING?

A:-(i), (ii) and (iii)
(i), (ii) S (iii)
B:-(i), (ii) and (iv)
i) =03 (iv)

D:-All the above are correct
R30IV HQJP 300N

Correct Answer:- Option-C

Question22:-The proclamation of National Emergency ceases to operate unless
approved by the Parliament within
w¥1 3033 BIBRCVRB BRTZ ToZ,eod> J03€ HOA30 FReRF 0D

SODFBFEDIBH DG

A:-One month
200030 80neD

B:-Two months
OB doned



C:-Three months
STV doned

D:-Six months
e300 S0NYD

Correct Answer:- Option-A

Question23:-Consider the following statements regarding the Right to Property
guaranteed by the Indian Constitution.

(i) The 44th Amendment Act abolished the right to property as a fundamental
right.

(ii) The Right to property is now a legal right under Article 300A.

(ii) It protects private property against executive action but not against legislative
action.

(iv) When the state acquires the property of a minority educational institution,
compensation must be paid.

Which of the statements given above is/are correct?

Q03030 H0DPIT OIVIBAT €32 $§a§ DOD B8 FIYNI £c@ﬁﬁ@’§o 20N

(i) 44e 3ZosB 52030031 303 $§§a BR3P BTN SFOPPA.

(i) e300 $§o St eRozded 300 A ©B03OE) FRATBRG BTN,

(i) 2o ez 8200081 Foodmeornt FRBE TFZE BT ForFort FIWOT Y.

(iv) oag@ @gﬁoa)azg 8geo 3o§cﬁo eaf,gabgo mcz@easﬁazéﬁomﬁ, 36@65@ TR SRR,
R0ee ACBONE BEFINFY 0300:3)E0 KO03ING?

A:-(i) and (ii)
(i) S0 (ii)

B:-(i), (ii) and (iii)
ii)

D:-30ed8 203 30035NS
All the above are correct
Correct Answer:- Option-D

Question24:-Which constituency in Kerala was set to become the State's first
dispute-free constituency with the launch of a permanent Gram Nyayalaya (Village
court) Adalat in January 20257

w0 2025 TQ 3038 My ©90359003) (7R3 TY0IPO0D) TS ©Fd

RV OYROB TR0V FTUE 0350 FESI) O?%SCS SABO HT-B0T Fegonds?

A:-Taliparamba
3930 020



B:-Kalpetta
vee3

X3

C:-Vamanapuram
NS ) ofe)

D:-Thrithala
3300

Correct Answer:- Option-C

Question25:-Which is/are the functions of the Kerala State Commission for Women?
(i)  Monitors laws concerning women

(ii) Ensuring women's protection and equality

(iii)  Addressing complaints related to women's rights violations

(iv) Implementing government policies on women's welfare

50 Oo%s R0& 303RCNE FOIENY 0d30)I)?

(i) S&P03T BOOsE @M&ﬁb d)ee?smdﬁ RI0EOSTI
(i) SoéPodoo TTE SO 3533630&)? DIBB BROFJBO

(iii) Sodwo égoﬁ%” VORI B0 ORI d@dori@’gb 20BOROYTO
(iv) Sdwo 6@28338965 B0 XTED &eéﬁ%”ﬁb 30 RFROFBO

A:-(i) and (ii)
(ii)

:-(i), (ii) and (iii)
(i), (i) S0 (iii)

(i) S

o

C:-(ii) and (iii)
(ii) 0o (iii)

D:-All the above
30O DY

Correct Answer:- Option-D

Question26:-Who is the head of the Lokayukta at the State level?
0% SBEQ SRCT000VF SB0PFCO adse0y?

A:-Governor of the State
oagm oagmodo

B:-Chief Minister of the State
oatgsd :m%)mc@

C:-A retired Chief Secretary
033 S0 F0DFBEE

D:-A retired Chief Justice or Judge for a High Court
033 :m%) a%aba@eédo OB BT T mgoimaeédo

Correct Answer:- Option-D



Question27:-The Act/Scheme/Policy under which the Kerala State Elderly
Commission established.
N oL erks $%00300 esadeensy) m@&m 5003/ 030w/ Qes.

A:-Kerala State Elderly Commission Act
Fe0Y 0% &D0300 esodeert 3203

B:-Vayoraksha Scheme for Senior Citizens
%D ©endTOMeN S0deeoze 0deess

C:-Kerala Senior Citizens Welfare Act
Fe0Y 003 wandso Ggmeo Eacﬁ%

D:-Kerala State Palliative Care Policy
SO 0% MBI 3T Qe

Correct Answer:- Option-A

Question28:-The Government agency which is primarily incharge for Watershed
Management in Kerala.
3e0YEQ) BWLRITVOT ASEBEN FIPATIN GURIDD B&ACIS T D K0

A:-Geological Survey of India
L9033 z,m%ga&)ﬁ AN

B:-Directorate of Environment and Climate change
BORC B0Z) BRION WHB LIRS VTCE Bwow0dd

C:-Kerala Water Authority
0¥ WO 9T

D:-Department of Soil Survey and Conservation Kerala
megaa REE F03) F00FT VW3 FCCY

Correct Answer:- Option-D

Question29:-Among the techniques that is commonly used for water conservation
in Kerala's watershed management programs, which one in the following is not
preferred due to peculiar geographical conditions of Kerala?

30YE BwUIRB0T ABE B0 T2 TRONYY VeOT ZoTTEMON mmgmﬂ WS 303N,

Be0YS D8 worlecds 382(»@&1@90@?\ 8% FINTYNYY 0dro33T, 6:8633 VB NI DL?

A:-Check dams
2355° mﬁs‘ ned

B:-Borewell Recharge Shafts
Wee0® P DewsaTste BRENRYD

C:-Farm ponds
ZA BROBND

D:-Percolation pits
RERCESCRD® BPOBNRK

Correct Answer:- Option-B



Question30:-Which is not true about Mahatma Gandhi National Rural Employment
Programme (MNREGA) in Kerala?
el Y] mmg nood oaédeodo AT emcif%m Fo030eT=0E (MNREGA) zori 030030

e ?

A:-Gram Panchayats is responsible for MGNREGA implementation
90 B0250303° e MGNREGA 0@0mEs, %0290 0oN00838

B:-Women, Scheduled Castes (SC), Scheduled Tribes (ST) and differently-abled
persons get special priority under MGNREGA in Kerala
3093 MGNREGA 080308 S30&$03000, 58@5\ 233ned (SC), 38§§ Fon@ned (ST) S0

00N FFNLH B FS0LF> BW0IFIT
C:-Lack of skilled workers is a challenge faced by MGNREGA implementation in

Kerala
3093 MGNREGA eaabae\—aoa@ DBO0ROITOS @égaﬁme' FORNITT R0I

D:-The Central and State Governments shared the funds required for
MGNREGA
300, S0 0% ABeoned MGNREGA 1} earigébdod 5m5§o BOWBEN 0B R)

Correct Answer:- Option-C

Question31:-The name of the initiative launched in Kerala to automate human
resource management in the government sector.
35oF 0 F00TY BT FoFPRO ABEBE0IT) 5030025 AFIL BT YT PRI

SUBTROG FBR3

A:-SPARK
SPARK

B:-KSWAN
KSWAN

C:-e-Office
e-Office

D:-e-Seva
e-Seva

Correct Answer:- Option-A

Question32:-Which Committee of the Kerala Legislative Assembly reviews, rules
and regulations under delegated legislation?
Fe0¥ Zoxgaon 3330300 030 B0 V03eCeE ForsE BRI V0TI FoBd &)od)mm’@

$08eIRIIT?

A:-Public Accounts Committee
FORE BT 6§5§ A0S

B:-Committee on Subordinate Legislation
9RCR TIARW IS

C:-Finance Committee
DEITOR AS



D:-Law of Reforms Committee
TORARY RIPITT A

Correct Answer:- Option-B

Question33:-The safeguards against Administrative Arbitrariness is included in
which Article of the Indian Constitution?
eazse?@mgﬁ 90030083030 Stel nln] dgﬁﬁv’ﬁb %0803 FODPITVE 0309s WVIYTHY ZeORNTS?

A:-Article 14
eaabged 14

B:-Article 19
@6&%}3&5 19

C:-Article 51A
eaab?ged 51A

D:-Article 360
@nge&i 360

Correct Answer:-Question Cancelled

Question34:-Name the Writ is issued by the Supreme Court when a decision

violates the Principles of Natural Justice.

3ey)r FANET P0IBT IINTFD PUYOPATIN Yeo TR’ BRTBAD Des* gy B
3 Q "™ 8

A:-Habeas Corpus
BT ToBER®

B:-Mandamus

C:-Prohibition
ARCT

D:-Certiorari
283030000

Correct Answer:- Option-D

Question35:-The country recently collaborated with India to develop the 'Trajan 155
mm towed artillery gun system'’
'e39%50° 155 00 é&/aew; ese3e@d ot %gﬁ:ﬁ' @ﬁb @@dg@g’oéﬁw 030033 WeBF) V3eedr

03B R 0N FBTOTI?

A:-Australia
qgee‘)odoa

B:-Japan
(~TRI

C:-Russia

d@a



D:-France
BT,
Correct Answer:- Option-D
Question36:-Which among the following vitamin promote absorption of calcium?
88 FYNT 03003 JE3ON® F%e?oobo &e@%w?&ﬁab@ eVZeROZT?

A:-Vitamin C
QL3O 2

B:-Vitamin E
A3 A

C:-Vitamin D
IOV B

D:-Vitamin K
QEION® F
Correct Answer:- Option-C
Question37:-Total number of bones in an adult human body is
wojo§ R003 Bewrn DS e RSN ﬁoa%
A:-206
206

B:-226
226

C:-260
260

D:-266
266

Correct Answer:- Option-A

Question38:-Which essential micro-nutrient is required for the synthesis of thyroid
hormone?
c@oaods; FoRSCE V° ROBCRTT 03703 mg@aeo—-’aﬁaoé esricgfé:)cﬁ?

A:-lron
3
[A)

B:-lodine
903 R

C:-Zinc
3D

D:-Selenium
23Q03035¢

Correct Answer:- Option-B
Question39:-Which among the following is a major air pollutant?



83 FINBJYNYY 0dreF)3o FRwD Foodw m@gmﬁmﬁm”?
A:-Hydrogen sulphide

BB 0w’ IS T
B:-Nitrogen oxide

RO Aoy

C:-Carbon monoxide
TRIEO° dfaméd,zse

D:-Carbon dioxide
TR E0° t% e.-sﬁd,cs‘

Correct Answer:- Option-C

Question40:-Human Papilloma Virus infection is a risk factor of
?@Eb&‘ mzf‘-bei/aem m;ds‘ BCOB) 959030T0 €90359NT.

A:-Colon Cancer
BR3P ngoﬁ

B:-Breast Cancer
3 TIO°

C:-Lung Cancer
aaaﬁﬁJaeécS '@goe

D:-Cervical Cancer
ATATEJeloa] 59&506

Correct Answer:- Option-D

Question41:-Which among the following is the causative organism of Syphilis?
8% FINSIHNYY 2D 1} o0 LNROS 236D 03TIBO?

A:-Treponema Pallidum
E3pednn sodn=Ro®

B:-Trichomonas Vaginalis
&3,308,0007° Jtdvoda®

C:-Haemophilus ducreyi
S3CHORE BREOD

D:-Neisseria Gonorrhoeae
QeBeD03r0 AR BRCE0D
Correct Answer:- Option-A

Question42:-"VIVA Project" a Kerala Government initiative, launched in 2023
focuses on prevention and treatment of which disease?
2023 39 5900 " v @z:?g“ 0¥ 3TF0TW YUBTROI) 03003 BUeencs Sdn%m% R0

2333030 FoeeS FeoR eTORIZLS?

A:-Life style diseases



dedaﬁ%@ dueenned

B:-Anemia
T5&end

C:-Depression
I3
=Y
D:-Vitamin Deficiency Disorders
QEION® FRT303 e9§§3mﬂb
Correct Answer:- Option-B

Question43:-World Health Day Theme 2025, "Healthy beginnings, Hopeful Futures"
focuses on
ag e.-sd/acg AT Hexso® 2025, "e.-sdfacgaj 33802310, e350w0030T zpa-gﬁ@a" YRT Soees

$e0R e50ROZI3

A:-Mosquito borne diseases prevention and control
.-:"uae;j}cmod BOBIS Beerine BT [0Z> A030Z e

B:-Mental Health and well being
SIOV2T ead/aeg S03> adweengdesd

C:-Elderly Health and survival
%0030 ester S WEIBFIVNS

D:-Maternal and new-borne health and survival
32000 S0P ®Fese3 330N e S0P WHIRIFAIVNS

Correct Answer:- Option-D
Question44:-What is the full form of MOSDAC?
MOSDAC & R/08¢ BRI DR0?

A:-Meteorological and Oceanographic Satellite Data Analysis Centre
Meteorological and Oceanographic Satellite Data Analysis Centre

B:-Meteorological Open Sources for Data Analysis Centre
Meteorological Open Sources for Data Analysis Centre

C:-Metal Oxide Semiconductor Digital Amplifier Circuit
Metal Oxide Semiconductor Digital Amplifier Circuit

D:-Meteorological and Oceanographic Satellite Data Archival Centre
Meteorological and Oceanographic Satellite Data Archival Centre

Correct Answer:- Option-D

Question45:-The correct arrangement of the following members of electromagnetic
spectrum in the ascending order of energy.

Microwave - 1, Radio wave - 2, Visible - 3, UV - 4, v rays - 5, X-rays - 6, IR-7
éi)zgo@&oéeod) RERLIOT FEND z;’cigd 2003500 BREE B30k $TRCHE TITY



B)BReBe’ - 1, TeBodee 3oor - 2, 1teewdS - 3, UV - 4, 7 30eried - 5, ogt-8deried - 6, IR -

A-1,2,7,3,4,6,5
1,2,7,3,4,6,5
B:-2,1,7,3,4,6,5
2,1,7,3,4,6,5
C-2,1,4,3,7,6,5
2,1,4,3,7,6,5
D:-5,6,4,3,7,1,2

56,4,3,7,1,2
Correct Answer:- Option-B

Question46:-Which fundamental Sl unit influences the definition of most of the
other S| fundamental units?
03093 RPN S| Fe3T3) QS0 éz&g\i S| 00PN FE3TRLD m@a@dgo ém&*’,\oézﬁ?

-0

A:-Meter
Aee3ot

B:-Kilogram
dSengo

C:-Second
AT

D:-Kelvin
36?9‘
Correct Answer:- Option-C

Question47:-Which among the following places in India where the value of
acceleration due to gravity is highest?
(AR o a1 mdoaaaﬁo—-ie‘ﬁoaoow RSP0 wﬁ%)@ wgaﬁa‘aﬁdod gee’ 0300)B0?

A:-Delhi
Bxd

B:-Mumbai
d.uoz%

C:-Thiruvananthapuram
30O D033 0

D:-All have same acceleration due to gravity
mdoaaaﬁ-’owﬁwm YR worde Dedodd deﬁdqﬁvﬁoﬁogﬁo BPODT
Correct Answer:- Option-A

Question48:-What is the pH of a 1x0-22 Molar aqueous Hydrochloric acid solution?
1x10-72 FRCO0° BACO BT/ CBRLOT 33 R[N VT [eR?



A:-7

B:-7.2
7.2

C:-6.8
6.8

D:-None of these
QR)NYY 0350FB0 9

Correct Answer:- Option-A

Question49:-The Quantum numbers for the valence electron of an element are
given below :

n=2l=0m=0s="1

The Autom is

2030 903w a"ce‘jafv aej‘@’a‘ f%oésm‘ 3033J$%>’§> 39N B ONG.

n=21l=0m=0,5= +%

DO RBIED

A:-Helium
&edodoo

B:-Lithium
dRado

C:-Beryllium
W0D0HRI*

D:-Boron
AVOINO PN

Correct Answer:- Option-B

Question50:-Which of the following gas can be liquified under high pressure and at
40°C?
88 FYND 03003 @&)e)ﬁﬁb éz&ﬁ w3BTY 3030 402C S B ACTORTBIB?

A:-Nitrogen
FIVLDVT

B:-Hydrogen
BB CHBD°

C:-Oxygen
SWRT

D:-Ammonia
93900379

Correct Answer:- Option-D

Question51:-Pyrolusite is the oxide ore of metal.
%dfaee»%w SRcxs ea%css 90)30.



A:-lron
T
W

B:-Aluminum
ea%m&b&)oi)o

C:-Zinc
3D

D:-Manganese
magri&)e,u—s

Correct Answer:- Option-D

Question52:-Which among the following statements are correct with respect of
Krishnanattam?

(i) Krishnanattam is the modified form of Ashtapathiyattam

(ii) Manavedan Raja of Kozhikkode was the founder of Krishnanattam

(iii) Manavedan Raja wrote Krishna Geethi

(iv) Krishna Geethi was written on the model of Geetha Govindam of Jayadeva

gFmoddo wii B8 FYNT 0353 BePFneL 3D0dINES?

(i) THAPatso 0B @ﬁﬁémgoﬁ SIOB € BB DN

(ii) 6@@@?&/%@636 © IIOVICT S T go—-’s%m%soa’) ;Tc)(g_’oﬁ

(iii) SooTIeIS v TR ﬁc@ojogo Alslalazie

(iv) ZENedodsd wodoTesy Ned reedoro S5eEdodQ wTBodoeeNdd

A:-only (i) and (iv)
(i) &0 (iv) S8,

B:-only (i), (ii) and (iii)
(i), (ii) 03> (iii) S8,
C: onIy (1), (iii) and (iv)
(i), (iii) o3> (iv) =09,

Ay

D:-All the above ((i), (ii), (iii) and (iv))
doee‘)as Q9 ((i), (i), (iii) S>> (iv))

Correct Answer:- Option-D

Question53:-Emiliano Martinez, who bagged the Best FIFA Men's Goalkeeper award
for the year 2024, belongs to
2024 O IxFB ea:gfogdo FIFA R)O0R0 11eces® 3e30° g’ojé&&bgp BB AQD0ITRe I3 BLF,

odoos3 a‘s’céé& R0 0BBe3BOZ)TBO?

A:-Argentina
2923 083

B:-France
PIN°

~N



C:-Brazil
Bues

D:-Croatia
39,03,0€840359

Correct Answer:- Option-A

Question54:-Match the following characters and works and find out the correct
answer from the choices given

(a) Appukuttan (i) Pravachakante Vazhi

(b) Narayanan (ii) Keshavante Vilapangal

(c) Govindan kutty (iii) Sundarikalum Sundaranmarum

(d) Irumban Govindan Nair (iv) Asuravithu

8 FYNT TogNed =0 q)smfgg BPODA FOZ) ACRTOD eao&%ﬁe?ow 20030003 emgdwgg

FoBHBOD

(a) oayEOMR® () Zeoeisod 30
(b) ®oTP03EE (i) gez=0d Demories
(C) RAEORT B3, (i) BooBOFO RIOBSTHBIR®

(d) ®0CO0VP° IENOT ™ Boo3LTE (iv) x>0

A:-(a)-(i), (b)-(ii), (c)-(iii), (d)-(iv)
(a)-(i), (b)-(ii), (c)-(iii), (d)-(iv)

B:-(a)-(ii), (b)-(iii), (c)-(iv), (d)-(i)
(a)-(ii), (b)-(iii), (c)-(iv), (d)-(i)

C:-(a)-(iv), (b)-(ii), (c)-(i), (d)-(iii)
(a)-(iv), (b)-(ii), (c)-(i), (d)-(iii)

D:-(a)-(ii), (b)-(i), (c)-(iv), (d)-(iii)
(a)-(ii), (b)-(i), (c)-(iv), (d)-(iii)

Correct Answer:- Option-D
Question55:-M.T. Vasudevan Nair won the Jnanpith Award in the year
0.83. DRTEBT® T0IT® WITY BY IRETQ 5oTAeT & F0dogh RYT.

A:-1984
1984

B:-1995
1995

C:-2007
2007

D:-2019
2019

Correct Answer:- Option-B

Question56:-The Nehru Trophy boat regatta is held in
SB00 89 e Broeed gde'o.bﬁb 8 FYNT08 SBRUNOZT.



A:-Ashtamudikayal
wgmémodocf

B:-Punnamadakayal
Q)QMandoeﬁ

C:-Vembanattukayal
S0 DT

D:-None of these
A)YNYY 0350F)BP 9

Correct Answer:- Option-B

Question57:-Which among the following statement/statements are not correct with
respect to Pradhan Mantri Vidhyalaxmi Scheme?

i. Itis a Scheme for providing financial assistance to students for higher studies.
ii. The scheme was launched in 2023.

iii. NIRF rank of the Higher education institutions is considering for sanction of
loan.

iv. The scheme provides collateral-free and guarantor-free education loans.

BV Q¢ :)maso%@ 03eezin 50 0RAF03 B8 FFNT 0300 HEFF/BCYENL 3D0IPNY?
i QWO em§53 eacgcxbaiqﬂ DERPE NI 8PET I0F) Ae@OZ 0d0ezsBodONG.

ii. 8% odeewtodsy 202309 §RT0REe20003.

iii. 390 R00%PTISMN em§$3 8geo Zognie NIRF écséodoﬁb BOnesReerL.

iv. 8% odeeziiod seenpeS-B00g B3 3930308 838 FONYRd wWENRLZW.

A:-only i
FCRO |

B:-only i and ii
FeRO | B i
C:-only ii
FERO i
D:-only iii and iv
FeR0 i B iv
Correct Answer:- Option-C

Question58:-Bashar al-Assad was the Former President of
2030° eao“—eameG X093 @?goaﬁgdo

A:-Syria
200359

B:-Lebanon
SAVE

C:-Egypt
éngw—;



D:-Jordon
B CTIE D

Correct Answer:- Option-A

Question59:-Which software is used for video editing?
deidodee 2Be30n’ 1§ 0d5e Fo;,5e0° PO WIHLrIZE?

A:-Google Chrome
Renef 9 e30°

B:-MS PowerPoint
DO IR0 T

C:-Adobe Premiere Pro
TR CUE eO0VT® HP

D:-VLC Media Player
D DF 3 HoeBadre Feodovs

Correct Answer:- Option-C

Question60:-What is the purpose of a router in a network?
e J5° BY CLetsT® & eugedsSeso?

A:-To store data
zﬁemdgb 30@ &R0

B:-To display web pages
PN o—-’gme@) ST

C:-To process information
daazoéabg) s3odrtedzen

D:-To connect different networks
3)21’)§l5 N3’ I rﬁe?ga QORBERICD
Correct Answer:- Option-D
Question61:-What is an "influencer" on social media?
REIDIAL mgmg "TLeD" HoBTeRO?
A:-person who creates and shares engaging content
eSTRE T c‘i)_"oaod)ﬁﬁb B3R o aoz?;%Jagbd §§
B:-a social media hacker
JORILT :mzz:siwo mfc‘
C:-a website developer
INTAM :g‘}és‘ BIOI0¢
D:-an online scammer
eS® 6366‘ mzpao“
Correct Answer:- Option-A

Question62:-Which international regulation focuses on data protection and privacy



in the European Union?
0300TseeH0NE u?aédcigﬂ‘) wee3o OB S0 r?acésﬁ’)éab 30eef 03593 ©9030Tag 03 A030ZEd

3R cTOROZT?
A:-HIPAA
HIPAA

B:-GDPR
GDPR

C:-CCPA
CCPA

D:-SOX
SOX

Correct Answer:- Option-B

Question63:-Which company recently announced its latest Al model, Gemini 1.5,
aimed at competing with OpenAl's ChatGPT-47?
OpenAl 8 ChatGPT-4 s»0d1 g@s‘ﬁm rbbojo§b BRODTOR 3§> 23038 Al S0a@D Gemini

1.5 o5 9dewdrt 0da 0B FUeeARD?

A:-Microsoft
Epema,

B:-Google DeepMind
nene® Bex® 306°

C:-Meta
20839

D:-Amazon
93023 ™°

Correct Answer:- Option-B
Question64:-The main objective of Right of Information Act is
=908 aga 5203003 B=0D evied

A:-Empowerment of Citizens
©on0T0 KwDeTT €9

B:-Transparency and Accountability
FICWBET 20D BRTNOOT

C:-Combating Corruption
ga—aumdsgo N ARIeEA) AN

D:-All the above
30 DY

Correct Answer:- Option-D

Question65:-What is unfair trade practices under Consumer Protection Act, 20197
N9®T FOOTE 5203 2019 T 9B0DY T3 59me0 SF3Ned DoETeR)?

A:-Manufacturing spurious goods or providing defective services



DAY, z’»dﬁ)rw’ﬁb 303090ROJ)RBO FT WRCROIVT ﬁea"rﬁ&fﬁb W NROZBO

B:-Disclosing the personal information of the consumer
MR&®s0 303085 saaéoéojogn 2 &0 0NB BROZ)BO

C:-All of the above
3093 DY

D:-None of the above
R0eDT 0d00FBS 9L
Correct Answer:- Option-C

Question66:-Who is having the power to issue adoption orders as per Juvenile
Justice (Care and Protection of Children) Amendment Act, 20217
290 mzsojo m§0 (:n?e,f e.-sqjﬁ R0 dﬁﬁ) K ARTIE Fao&é 2021 © g’oﬁad ALV esdeéﬁ@e’gb QBRI

09QTC 035001 V?
A:-District Magistrate
(XD mﬁgew
B:-Probationary Officer
FPRUCRTO 9QTD

C:-Judge of High Court
%iﬁ)(’é&‘i—‘ méoim@eédo

D:-Grama Nyayalaya
93> M350
Correct Answer:- Option-A

Question67:-Which section of IPC has been declared as unconstitutional by
Supreme Court to protect the right of transgenders?
RO HoBO* BFR VIV R0geo BREEFE D3 0d 0353 NFPMBFO WRODTINT SO0

TLOCAAT?
A:-Section 123
ﬁgm"' 123

B:-Section 377
ﬁga‘ 377

C:-Section 382
ﬁga‘ 382

D:-Section 304
Agn® 304
Correct Answer:- Option-B

Question68:-Which section of BSA covers the provision of presumption of dowry
death?
Q) O7° DO 03I9R DPIN) SCBIES FoIT SURHA K)zooqiaﬁobgb WP PORT?

A:-S. 115 BSA



S. 115 BSA

B:-S. 100 BSA
S. 100 BSA

C:-S. 118 BSA
S. 118 BSA

D:-None of the above
S0edT 03RIEBSH 9L
Correct Answer:- Option-C

Question69:-The sexual harassment of women at workplace (Prevention, Prohibition
and Redressal) Act, 2013 deal with
BORE VB B0&F03T 30T &0NT LTV (IBMELIT, AR ey 3P F0H0) T003), 2013

TBL0DN FIBOIT

A:-provide leisure time to women during working hours
FORE FR0VTE) R0&B0ON TR 33301)5@ LB NROIJBO

B:-provide wages to women
S0&HS0300NR 5@363@ B NROIZBO

C:-none of the above
R0V 03B Q)

D:-creation of internal complaints committee to address complaints of sexual
harassment
ezoﬁﬁ 3COBOYE c&fadom@o H0BOTV €3030T BRTO 3&330305*53 (O IR O] AN)

Correct Answer:- Option-D

Question70:-Which section of The Right of Persons with Disabilities Act, 2016 deal
with intentionally insulting or intimidating with intent to humiliate a person with
disability within public view?

90NITO ?émf 3?3 5203), 2016 T 03503 DPINF) BB WAT BR3P ordTe 33§oi)§b

IR SDIIVRIRD emcgeé&od emcgeéﬁﬁm'sa‘aﬁ IRI0RCUN T mcgz,; IS0 ale] mrj1
gwaamgd?

A:-S. 90
3. 90

B:-S. 87
a. 87

C:-S. 92
3. 92

D:-S. 104
3. 104
Correct Answer:- Option-C

Question71:-The 21st term of an AP is thrice its 7th term. If 9th term is 18 what is
the 64th term?



AP 03 2138 £330°¢ 93T 78 e330°¢ & 30000 33(5&1) 93¢ &330°¢ 18 eﬁgd’ 643e £330°¢
0300)BO?

A:-125
125

B:-127
127

C:-128
128

D:-130
130

Correct Answer:- Option-C

Question72:-In some coding language MOBILE is coded as QSFMPI, then how is
PHONE coded?
FOR) BeeBont PoRnv® MOBILE @ﬁb QSFMPI 2030 $006°¢ S00@ NG, wonord, PHONE

R0 Fert Baew’ BB warIZs?
A:-UMSQI
UMSQI

B:-TLSRI
TLSRI

C:-MUSRI
MUSRI

D:-TKSQI
TKSQI

Correct Answer:- Option-B

Question73:-Arun, Varun and Kiran goes to school by walking. Each of their steps
measure 55 cm, 60 cm, 65 cm respectively. If each of them step together, what is
the minimum distance each should walk so that they can cover the distance in
complete steps?

IDVES, SOVEF BB 30H° Bt BHERL BeerHZYT. ST & 3030080 BN RowaN 55

30.20¢., 60 30.0C., 65 F0.0C. 9YS BHPODI. &—-’ojéai/az&gd@ m@ £§ DHBR T, 9S[CO dwddgb
BOFPEE HOINFY TAILL T 303200 FE0dIICTE TR BT 207

A:-85 m 80 cm
85 ave. 80 Fo.oe.

B:-21 m 45 cm
21 oe. 45 F0.oe

C:-2145 m
2145 Qoe.

D:-8580 m
8580 oe.

Correct Answer:- Option-A



Question74:-A bus started from a bus depot when depot clock was showing 1.00
p.m. When the bus reached the last but stop, the clock at the last bus stop was
showing 1.45 pm. After taking arrest of 30 minutes, the bus returned back to the
bus depot by a different route of length 1.5 times the first route at a rate twice as
fast reaching the bus depot at 2.30 p.m. As compared to the clock at the bus depot,
the clock at the last bus stop is

W BIC NR03C asomag 1.00 30¢0z08man W BLPCDOT BRTEIZ. WA BRBOD WAF

&)gasadgp Zeodnarn, AT Wa° AYeeBYD NBR03T BopeEk 1.45 Z0e0x08D. 30 ARNY
DF30803 [0, Wr* FAFO waﬁrgo:s’ 1.5 St evga c‘:)z;’)g S0neB Q) W BSPCER H03TON.
RAAN) mqmg 2.30 6&&)56 BBRC 3LV, WEF BIPTII riaodoadéé BRHCARTT, FRV0D WIE
WSplealigtelestpe

A:-10 minutes fast
10 QQoRNY Sent

B:-10 minutes slow
10 QRNY AP

C:-15 minutes fast
15 doRNY Sen

D:-15 minutes slow
15 QARNY AP

Correct Answer:- Option-C

Question75:-Aravind deposited an amount of Rs. 640 in a Bank. Due to some
emergency he withdrawed the amount after 2 years 8 months and he received Rs.
844 and 80 paise from the bank. What is the rate of interest if the bank has simple
rate of interest?

©00%° 23908TQ 640 TCuemo0RNFRd Bes3ed JYoL. FOI) RF FDAS0OWN 300 2 IR 8

don¥ Bo3T 63 d/agdﬁb &031iEOBR0BTY &0 masoﬁ(‘()od 844 Csma0nY =03 80 ;-"gjﬁri%fgo
JBEOO. ZJDZSOEG A0 w@gﬂddﬁb moagd u&gd chg_"eg\O?

A:-10%
10%

B:-11%
11%

C:-12%
12%

D:-13%
13%

Correct Answer:- Option-C



Question76:-Akbar travels 10 km north then turns east and travels 7 km, then turns
south and travels for 14 km, then turns to the right and travels 4 km. What is the
distance from his starting position to the finishing position?

350° 10 3.20¢. eu303 F 0300830393, B03T FR[ET, 300N 7 3.Q0¢. F0350ed039T. B03T Bed,

800N 14 3.Qo¢. &0di0edRozars, $oss ?,ooﬁﬁ 800N 4 3.20¢. B 030oedROTIN. 9SS $CoYT m@aiaod
2903530 m@aﬂ% QOOS BT cbf’ﬁo?

A:-3 km
3 3.2oe.

B:-4 km
4 &.oe.

C:-5 km
5 &.aoe.

D:-7 km
7 &.2o¢.
Correct Answer:- Option-C

Question77:-The next term of the sequence -2, 2, 8, 16, 26, __..........
IRBOTRIT F0oRT =B -2, 2, 8, 16, 26, __..........

A:-36
36

B:-38
38

C:-40
40

D:-42
42

Correct Answer:- Option-B

Question78:-In the sequence of symbols @ + X — + X % — + X @ + —, how many
+'s are there which are not immediately preceded by — and immediately
succeedeed by x?

@+X—+X%—+X@+ - zsgmfesab@mg), 3TEIRNC FABOV — YT OB IFEIe X

ea) Qbé;?soi)ariw + ned cbf’ﬁo Q3?

A:-4
4

B:-3
3

C:-2
2

D:-1
1

Correct Answer:- Option-D



Question79:-If + means =, — means X, X means + and = means —, then the value
of 7+7x7—7=7+7x7+7-7 is
+ 0BT +, — VOB X, X HOWT + B + BT — 8NGFT, 7T+7X7—=7+7+7x7+7-7 I

30’9%)@

A:-7
7

B:-41
41

C:-49
49

D:-55
55

Correct Answer:- Option-A

Question80:-Mark and Antony work in an IT firm. Mark is twice efficient as Antony is
doing a job and takes 30 days less than Antony for doing a programming job. Find
the time in which Mark and Antony can do it together.

SIRFE B0 e50E3n° &3 F0F0bY FOF [BEITIT. BITE 2,060 FORBFD BEODY 083AN03

0B BB B FOHT0 B0 FPENPAIeon’ FORSFO SreEen 0t3dN03 30 BIMFN0I
BB OBV, [RTE P 08N W BT [RELL SFHO FROOD e DBy
TOBOSRBOWD.

A:-30 days
30 dIND

B:-25 days
25 QSN

C:-22 days
22 3D

D:-20 days
20 SN
Correct Answer:- Option-D

Question81:-Choose the correct passive form of the sentence, 'Clean the room'
from the following options

A:-The room shall be clean

B:-Let the room cleaned

C:-Let the room be clean

D:-Let the room be cleaned

Correct Answer:- Option-D

Question82:-Identify the correct sentence.

A:-He didn't see her coming

B:-He hasn't saw her come



C:-He was seen her came
D:-He saw her came
Correct Answer:- Option-A

Question83:-Fill in the blanks with the correct choice from the option below.
Do you mind the door?

A:-To close

B:-To have closed
C:-Closed

D:-Closing

Correct Answer:- Option-D

Question84:-ldentify the error in the given sentence from the options below :
If you have made the cake | would have appreciated

A:-Have

B:-Made

C:-Would

D:-Appreciated

Correct Answer:- Option-A
Question85:-Knucklehead is a slang for

A:-Coward

B:-Shy person

C:-Foolish person

D:-Crooked one

Correct Answer:- Option-C

Question86:-Complete the sentence using any one of the suitable options given
below :
Yesterday | felt very tired as

A:-1 was feeling a bit under the weather
B:-1 turned a blind eye

C:-Beating around the bush

D:-I have got it in the bag

Correct Answer:- Option-A

Question87:-Complete the sentence by choosing the appropriate one from the
abbreviations given below :
| had a when the crowd at the fair increased

A:-LDK
B:-ICL
C:-FOMO
D:-BRB



Correct Answer:- Option-C

Question88:-Identify the error in the given sentence from the following options
She was complemented on her success at the intercollegiate quiz festival held
yesterday at the college auditorium

A:-On

B:-Complemented

C:-Held

D:-Auditorium

Correct Answer:- Option-B

Question89:-Fill in the blank using the correct phrasal verb given as options
She decided to the topic in the next meeting

A:-Bring up

B:-Pass out

C:-Get along

D:-Run into

Correct Answer:- Option-A

Question90:-Choose the meaning of the word inbold in the given sentence from the
options which follow
People believed that democracy is the panacea for the humanity as a whole.

A:-Source of all problems
B:-Solution for all problems
C:-Condition leading to prosperity
D:-Plan of action
Correct Answer:- Option-B
Question91:-8s FYNTIH)NYY 3003006 BYTLH 0300R)EO?

Correct Answer:- Option-A
Question92:-0egg, 07, B0Q3, 3T - BYNYY roodrt Fe0T B 03RFEO?
A:-0ogx
B:-e90%
C:-20Q8
D:-3g0



Correct Answer:- Option-B
Question93:-Bawy HOBT -

A:-mRe3e 323

e3 tA)
B:-sonud

PR ]
C:-5o83 2303
D:-g¥0dzees 303

Correct Answer:- Option-C
Question94:-2308 - YWT H03deE 0 I

A:-0030
B:-as®

C:-o38®
D:-enucsd

Correct Answer:- Option-A
Question95:-8 FNIF)NFY FD03E @egTesBdLF NTO3D.

A:-See3odQ DL 20200 el 2B
B:-Seedod@ mae 2300200 w3} ABE)
C:-See3odg) T 232000Me0 231 ABBD)
D:-See30d® mae0 2390200M%0 2:63% 2BV

Correct Answer:- Option-C
Question96:-3¥NIHNYY 333 BHCYF 0300)BO?

A:-3000%3083 H0BT ﬂdgd R000%I9N

B:-&3e0 H0BT 23ed BT FAIAN
C:-803003008 H0B 3 90750309008 BPT0
D:-330 2033 sR

Correct Answer:- Option-B

Question97:-303REE, THRITE, FRFTIR, MILIUS - SEASI)NYY 03PBB S
OBOTROLTOAE?

A:-Qe00, D2, R0V, BRCTTD
B:-22, QC00, BRCTTY, 90D
C:-3BRCTTY, AT, D2, 9300



D:-3RCRE0, ATV, 89300, DR

Correct Answer:- Option-D
Question98:-eor} Howd

A:-oneDes 3
B:-25033 8,
C:-30808,
D:-ﬁdodo WY

Correct Answer:- Option-D
Question99:-Declaration 8% $@3 H0d5¢ 03N FIETY wWFROS B3

A:-86300¢ ®
B:-dﬁeﬁdw
C:-FReRH
D:-3xa8cw

Correct Answer:- Option-C
QuestionlOO:-eaorjj m&jaﬁ 6§5é DF? - T8 MT30dd FaZ0odoE

A:-DR 03 ZRFNT
wed
B:-dR030 9xRZNS
wed
C:-m0og0 338 BeBEIPHBY
D:-zoedrt 6§>& »B032IITTO

Correct Answer:- Option-A



